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QUESTION NO: 1

Which statement is correct about VMware SD-WAN Orchestrator user roles and their associate privileges?

A. Customer Support User can view and manage then company's network 

B. Standard Admin User can view but cannot manage their customer.

C. Superuser: User can view but cannot create additional admin.

D. Enterprise read only: User can view but not modify configurations.

ANSWER: A 

QUESTION NO: 2

What are three key benefits of VMware SD-WAN? (Choose three )

A. Provision Edges in minutes

B. Automated configuration of cloud resources

C. Remove requirement of Edge devices

D. Gain visibility across any link

E. Layer 2 VPNs between sites

F. Reduce the burden on MPLS

ANSWER: B C F 

QUESTION NO: 3

A service provider needs to ensure that the NOC is notified proactively in the event that an Edge interface loses connectivity 
to its WAN provider.

Which three methods are available for generating these alerts? (Choose three.)

A. Slack notification

B. Text/SMS

C. Push notification via the VMware SD WAN mobile app

D. SNMP Trap

E. Webhook
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F. Dyinq Gasp 

ANSWER: B C F 

QUESTION NO: 4

Which three authentication mode options ate valid for use on the VMware SD-WAN Edge? (Choose three.)

A. Certificate Enabled

B. Certificate ate Optional 

C. Certificate Disabled 

D. Certificate Activated

E. Certificate Accepted

F. Certificate Requited

ANSWER: A C E 

QUESTION NO: 5

Employees with an Apple iOS device have been causing congestion on the company's internet

What should an administrator configure to target these devices when creating a Business policy for this issue?

A. Action Priority

B. Action Network Service

C. Match Source

D. Match Destination

ANSWER: A 

QUESTION NO: 6

What is considered a typical VMware SD-WAN use case?

A. Provide a distributed (per device) commands line interface (CLI) based configurations to implement complex network 
design integration options.

B. Provide high speed layer 2 data center interconnects.

C. Provide cloud delivered central management Orchestrator to implement complex design network integration options.
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D. Provide management, control plane, and data forwarding from a single system to reduce complexly for the network 
administrator.

ANSWER: D 

QUESTION NO: 7

A customer has a 10,000 branch site requirement arid must use a hub cluster in their design.

Which Mware SO- WAN best practice should be used when designing the cluster?

A. BGP on WAN side 

B. Static routing 

C. MP BGP south bound

D. BGP on LAN side

ANSWER: C 

QUESTION NO: 8

A customer is using hypervisor to install VMware Partner Gateways. 

Which two hypervisors may be used? (Choose two.)

A. Hyper-V

B. Kubermetes

C. XenServer

D. KVM

E. ESXi

ANSWER: A D 

QUESTION NO: 9

Which VMware SR-WAN component runs the Deep Application Recognition Engine?

A. VMware SD WAN Orchestrator

B. VMware SD-WAN Controller

C. VMware SD-WAN Gateway
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D. VMware SD-WAN Edge

ANSWER: B 
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